EARAROBEEIERT — 2 N— IBISH —F

2019528160 (+) 21@EE1H

m 3— 3 Y7%3% ‘ xz] 2 ‘ il — | 4 (&) 14000 F4E
[AE£] 17 :240,000 " ~ 23%&:72,000 M 33 :24,000” 43 :14,000 M . 57 :10,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N _ . —o_o_ _ 155 =
17l 7| =1 xMKTAT # 3 %thgk 1.(3_1).6 2-2-2-1 | 39.9 1 :1_14) ;g;i (%)
LTANWNTT7FY— B:vA4xJ1UIvg EvilLy RT7—L
KAy AN # 3 ?'Z_/naiék 1:(362).8 77717 [39.7( — | 5 (3_8:) E;?w (1=%)
L:oxrinam— B:UUDILKAy R () HAaA-KRL—>a>aETr
. IIFaE . —q—q— — HHERF ()
UL xx— 4 3 i 1(733 1-1-1-2 | 41.2 7 (4_299) ﬁEE?Eﬁ( i
gy UF K—0O B:¥FA bET 4 — VEPaY <)
0w # 3 | RBRZ 1:32.9 6-6-6-6 | 40.5| — 3 489 | FBEEF (1£8)
71Xy b 56.0 (1/2) (15) | T
Rigsrd—d— BRI —> Zb—LTp—LI—RKL—3>
N S FAFIA 1:33.2 4-4-3- 41. - 2 4 DA (1E8)
TULITLY— b o3 oe 4 313/2) 3-3 3 <+313; R
R:xA1=G7—Z2 B:KRyTXANFTy b EvilLy RT7—L
o= = Al : 55! = ekt (1£8)
NTyI7E—=7 3G 1'(323)'6 R s ! ?_420) BHEL
L HELINTy T BNRTFRTILI4 X it R
N RHEET . —3-4- - hEFE (E8)
211l | xFT21 4 3 s 1.(324>.o 3-3-4-4 | 42.0 6 zzg;s /J\Ewﬁ( ®
LixA2avR—-5— B:ATvyaELE Nipse]
® I —F—EBIERL
13—7+— 3,7,1,6,2,5,4
A== 3,7,1,6,2,5,4
Jol=5r= 3,7,6,1,2,5,4
43—F— 7,3,6,1,2,5,4
[ N3
BB 7 1904 714K 4-7 400M B & 4-7 1,630M 3EHE 3-4-7 8,580
8 B 7 1509 &= 1,310 B E 7-4 2,170 K31 7-4-3 46,4404
4 390H 3-4 3,250

ABICOVWTRDTEEERROODE. TR LIV,




